
2022 TJSSA State Futurity 
Genetic Evaluation Quiz 

Junior Division 
 
You have 60 minutes to complete this quiz. Questions 31 through 35 are tiebreaker questions. Further ties will be broken by order of finish. 
For each question, choose the best answer. 
 
 
For questions 1 through 10, refer to the following sires. Information on these bulls can be found on the last sheet of your quiz. 
Each bull may be used as an answer more than once. 
 

A. CLRS Dividend 405D 
B. ES Right Time FA110-4 
C. KBHR Cimarron F151 
D. LHT Top Tear 54H 
E. W/C Rest Easy 752G 

 
 

1. Which bull should you expect to produce daughters whose calves wean the heaviest due to milk and growth? 

2. Which bull has a red ancestor in his immediate pedigree? 

3. Which bull should you expect to produce the highest percentage of unassisted births when used on heifers? 

4. Which bull should you expect to produce offspring with the most post-weaning gain? 

5. Which bull is the most proven? 

6. Which bull should you expect to sire the lightest calves at birth? 

7. How many of these bulls have a dam whose DNA is definitely on file? 
a. 1 
b. 2 
c. 3 
d. 4 
e. 5 

 
8. Used on a group of 25 first-calf heifers, Bull E produced 22 unassisted births. What should you expect if Bull D had been used 

instead? 
a. Bull D would have produced more unassisted births. 
b. Bull D would have produced fewer unassisted births. 
c. Bull D would have produced longer gestations, on average. 
d. Bull D would have produced shorter gestations, on average. 

 
9. What is the color coat status of Bull D’s paternal granddam? 

a. Unknown 
b. Red 
c. Double Black 
d. Homozygous Black 
e. Heterozygous Black 

 
10. How many of these bulls are better than breed average for the Marbling EPD? 

a. 5 
b. 4 
c. 3 
d. 2 
e. 1 

 
11. Purebred Simmental Heifer 103J has a BW EPD of -1.4 with an accuracy of 0.4. What is the possible change of her BW EPD? 

a. 1.0 
b. 1.2 
c. 1.8 
d. 4.7 

 
 
 



12. With 1660 progeny reported, which popular AI sire ranked as the most used bull for 2020? 
Note: This list was published in the March 2022 issue of the Register. It recognizes progeny reported during the 2020 calendar year. 

a. CCR Cowboy Cut 5048Z 
b. SO Remedy 7F 
c. WS Proclamation E202 
d. TJ Franchise 451D 
e. WLE Copacetic E02 

 
13. Most genomic tests are performed on: 

a. bulls 
b. feeder calves 
c. donor cows 
d. replacement heifers 

 
14. According to ASA’s recommendations, what is the best practice when recording weaning weights for a contemporary group? 

a. Take weaning weights on all calves on the same day, when the majority of calves are 160 to 250 days of age. 
b. Take weaning weights on 2-3 separate days, weighing each calf when it is 180-220 days of age. 
c. Take weaning weights on many days, weighing each calf when it is 200-210 days of age. 
d. Take weaning weights on each calf when it is exactly 205 days of age. 

 
15. SimAngusTM Cow C107 has a Marbling EPD of 0.73 and a Yield Grade EPD of -0.18. SimAngusTM Cow E33 has a Marbling EPD of 0.39 

and a Yield Grade EPD of -0.40. Which bull should you expect to produce offspring that are more likely to grade USDA Prime? 
a. Cow C107 
b. Cow E33 
c. There will be no measurable difference. 
d. None of the above. Carcass EPDs apply only to sires. 

 
16. Five shows are currently part of the National SimGenetics Show rotation. Which is not one of them? 

a. American Royal 
b. Cattlemen’s Congress 
c. Houston Livestock Show & Rodeo 
d. North American International Livestock Exposition 

 
17. What is the name of the website used to register and transfer SimGenetics animals and to search for animals registered with the 

American Simmental Association? 
a. Simmental.com 
b. SireSource.org 
c. DigitalBeef.com 
d. Herdbook.org 

 
18. The Back Fat EPD (BF) is expressed in: 

a. square centimeters 
b. centimeters 
c. square inches 
d. inches 

 
19. In EPD, what does the P stand for? 

a. Performance 
b. Pedigree 
c. Progeny 
d. Proven 

 
20. Simmental Bull D14 has a YW EPD that ranks in the 40th Percentile. Simmental Bull D37 has a YW EPD that ranks in the 15th 

Percentile. Based on this information, which of the following should you definitely expect to be true? 
a. Bull D14 will have a higher WW EPD. 
b. Bull D37 will have a higher WW EPD. 
c. Bull D14 will produce offspring with heavier adjusted yearling weights, on average. 
d. Bull D37 will produce offspring with heavier adjusted yearling weights, on average. 

 
21. Which of the following requires DNA testing for parental validation before it can be registered? 

a. Natural calf out of your donor cow 
b. ET calf resulting from an embryo you purchased 
c. Bull calf that you hope to later collect semen from 
d. Calf born out of a bred heifer you purchased 



22. A heifer is registered as a Purebred Simbrah, with two Purebred Simbrah parents. Through DNA, it is discovered that she does not 
qualify to her sire. Instead, she was sired by a Purebred Simmental bull. What is her status in Herdbook? 

a. Her registration is suspended until a second parentage test is completed. 
b. Her pedigree is corrected, and she remains registered as Purebred Simbrah. 
c. Her pedigree is corrected, and she is registered as 3/4 SM 1/4 BR. 
d. She is no longer allowed to be registered with ASA. 

 
23. True or False: Once a SimGenetics animal is registered, its EPDs will not change until its first calves are registered. 

a. True 
b. False 

 
 
For questions 24 through 28, use the graphic below. 

 
 

24. What is this bull’s maternal grandsire? 
a. CDI Verdict 220Y 
b. IR Imperial B772 
c. TNT Dual Focus W086 
d. IR Imperial D948 

 
25. Which of the following common labels best fits this bull? 

a. Heifer Safe 
b. Show Bull 
c. Carcass Sire 
d. Proven 

 
26. You flushed your red donor dam to this bull. She produced 14 viable embryos, which resulted in 8 confirmed pregnancies.  

How many of those calves should you expect to be red? 
a. 0 
b. 4 
c. 6 
d. 8 

 
27. What is this bull’s registration number? 

a. 360047 
b. 3766616 
c. 221034 
d. 3210738 

 
28. You should definitely expect this bull to sire calves that are: 

a. born before 285 days of gestation 
b. born after 285 days of gestation 
c. heavier at birth compared to breed average 
d. lighter at birth compared to breed average 

 



29. Simbrah Bull G713 has a MCE EPD of 4.2. Simbrah Bull F47 has a MCE EPD of 7.6. Based on this information, which of the following 
statements should you definitely expect to be true? 

a. A higher percentage of F47’s daughters will remain productive in the herd at six years of age. 
b. A higher percentage of F47’s daughters will breed to calve at or before 24 months of age. 
c. A higher percentage of F47’s daughters will calve without assistance as heifers. 
d. A higher percentage of the heifers bred to F47 will calve without assistance. 

 
30. On average, how much of an animal’s genetic makeup is contributed by its sire? 

a. 75% 
b. 50% 
c. 25% 
d. 12.5% 

 
 
 

TIEBREAKER QUESTIONS 
Questions 31 through 35 are tiebreaker questions only. 
 

31. You purchased a halfblood SimAngusTM heifer to show during the 2022 show season. At minimum, how many generations are you 
from producing a Purebred Simmental replacement heifer through this female? 

a. 1 
b. 2 
c. 3 
d. 4 

 
32. Genetic correlation is expressed on a scale from: 

a. 1 to 100 
b. 0 to 100 
c. 0 to 1 
d. -1 to 1 

 
33. One of your cows gives birth to a calf that shows definitive signs of a simple-recessive genetic defect. What does this mean? 

a. Only the sire of the calf is a carrier of the genetic defect. 
b. Only the dam of the calf is a carrier of the genetic defect. 
c. Both the sire and the dam of the calf are carriers of the genetic defect. 
d. It is uncertain which parent animal is the genetic defect carrier, so both should be DNA tested. 

 
34. Refer to the sires you used for Questions 1 through 10. 

Consider the possible change of Bull A’s YW EPD. What does this mean? 
a. The true value of Bull A’s YW EPD is 67% likely to be within 3.6 points of its current value. 
b. The true value of Bull A’s YW EPD is 75% likely to be within 3.6 points of its current value. 
c. The true value of Bull A’s YW EPD is 95% likely to be within 3.6 points of its current value. 
d. The true value of Bull A’s YW EPD is 99% likely to be within 3.6 points of its current value. 
e. The true value of Bull A’s YW EPD is 100% likely to be within 3.6 points of its current value. 

 
35. In ASA’s whole herd reporting program, what is the fall calving season? 

a. July through December 
b. August through December 
c. September through December 
d. October through December 

 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 

 
 
 
 

 



 
 
 
 

 
 
 
 

 


